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<IDOCTYPE html>
<html>
<head>

</head>
<body>
<script>
</script>
</body>
</html>

<meta charset="utf-8">
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<IDOCTYPE html>
<html>
<head>
<meta charset="utf-8">
</head>
<body>

<input type=text id=input2>input2<p>

<input type=text id=operator size=1> ) <input type=text id=input1>input1<br>

<input type=text id=output>output<p>
<input type=button value="+1" onclick=tasu()>
<input type=button value="—" onclick=hiku()>

<script>
</script>
</body>
</html>
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[...=inputip.value D &IITF B E. inputirRIZEEZIAATZT—4% JavaScript TE>FY.
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<IDOCTYPE html>
<html>

<head>

<meta charset="utf-8">
</head>
<body>
<input type=text id=input2>input2<p>

<input type=text id=operator size=1> ) <input type=text id=input1>input1<br>

<input type=text id=output>output<p>

<input type=button value="+" onclick=tasu()>
<input type=button value="—" onclick=hiku()>

<script>

var inputlp = document.getElementByld(‘input1’);
var operatorp = document.getElementByld('operator’);
var input2p = document.getElementByld(‘'input2’);
var outputp = document.getElementByld(‘output');

function tasu() {
operatorp.value = "+";
outputp.value = Number(input2p.value) + Number(inputip.value);

}

function hiku() {
operatorp.value = "—";
outputp.value = Number(input2p.value) - Number(inputip.value);

}
</script>
</body>
</html>
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<IDOCTYPE htmlI>
<html>

<head>

<meta charset="utf-8">
</head>
<body>
<input type=text id=input2>input2<p>

<input type=text id=operator size=1> ) <input type=text id=input1>input1<br>

<input type=text id=output>output<p>

<input type=button value="+" onclick=tasu()>
<input type=button value="—" onclick=hiku()>

<script>

varinputlp = document.getElementByld('input1’);
var operatorp = document.getElementByld(‘operator');
varinput2p = document.getElementByld('input2');
var outputp = document.getElementByld(‘output');

function tasu() {
operatorp.value = "+";
outputp.value = Number(input2p.value) + Number(input1p.value);
inputip.value = Number(input2p.value) + Number(input1p.value);

}

function hiku() {
operatorp.value ="—";
outputp.value = Number(input2p.value) - Number(input1p.value);
inputip.value = Number(input2p.value) - Number(input1p.value);

}
</script>
</body>
</html>
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<IDOCTYPE htmlI>
<html>

<head>

<meta charset="utf-8">
</head>
<body>
<input type=text id=input2>input2<p>

<input type=text id=operator size=1> ) <input type=text id=input1>input1<br>

e :<br>_ <input type=text id=output>
<input type=button value="+" onclick=tasu()> output<p> EHIBRLT-
<input type=button value="—" onclick=hiku()> 3}

<script>
varinputlp = document.getElementByld('input1');
var operatorp = document.getElementByld(‘operator');
varinput2p = document.getElementByld('input2');

function tasu() {
operatorp.value = "+";
input1p.value = Number(input2p.value) + Number(input1p.value);

}

function hiku() {
operatorp.value ="—";
input1p.value = Number(input2p.value) - Number(input1p.value);

}
</script>
</body>
</html>
: 1 :inputz 1 :inputz
|2 inputl + )3 inputl
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<IDOCTYPE html>
<html>

<head>

<meta charset="utf-8">
</head>
<body>
<input type=text id=input2>input2<p>

<input type=text id=operator size=1> ) <input type=text id=input1>input1<br>

—————————————— <br>
<input type=button value="+" onclick=tasu()>
<input type=button value="—" onclick=hiku()>
<input type=button value="=" onclick=equal()>

<script>
varinputlp = document.getElementByld('input1');
var operatorp = document.getElementByld('operator');
var input2p = document.getElementByld('input2');

function tasu() {
operatorp.value = "+";
input2p.value = inputip.value;
inputip.value ="";

}
function hiku() {

operatorp.value = "—";
input2p.value = input1p.value;
inputip.value = "";
}
function equal() {
if (operatorp.value == "+") {
input1p.value = Number(input2p.value) + Number(input1p.value);

}
else if (operatorp.value == "—") {
input1p.value = Number(input2p.value) - Number(input1p.value);
}
operatorp.value = "=";
}
</script>
</body>
</html>
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<IDOCTYPE htmlI>

<html> <input type=text id=input2>
<head> input2<p> ZHIRLT=
<meta charset="utf-8">
</head>
<body>
<input type=text id=operator size=1> ) <input type=text id=input1>input1<br>
—————————————— <br>
<input type=button value="+" onclick=tasu()>
<input type=button value="—" onclick=hiku()>
<input type=button value="=" onclick=equal()>
<script>

varinputlp = document.getElementByld('input1');
var operatorp = document.getElementByld(‘operator');
var input2;

function tasu() {
operatorp.value = "+";
input2 = input1p.value;
input1p.value ="";
}
function hiku() {
operatorp.value ="—";
input2 = input1p.value;
inputip.value ="";
function equal() {
if (operatorp.value =="+") {
input1p.value = Number(input2) + Number(input1p.value);
¥
else if (operatorp.value =="—") {
input1p.value = Number(input2) - Number(input1p.value);
}

operatorp.value = "=";

}
</script>
</body>
</html>
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<IDOCTYPE htmI>
oc m <input type=text id=operator size=1> )

<html|>
<head> &
<meta charset="utf-8"> —  ——F7——F—————————— <br>
</head> #HIBRLT=
<body>

<input type=text id=input1><p>
<input type=button value="+" onclick=tasu()>

<input type=button value="—" onclick=hiku()>
<input type=button value="=" onclick=equal()>
<script>

varinputlp = document.getElementByld('input1');
var operator;
var input;

function tasu() {
operator ="+";
input2 = input1p.value;

input1p.value ="";

}

function hiku() {
operator ="—",
input2 = input1p.value;
input1p.value ="";

}

function equal() {
if (operator =="+") {
input1p.value = Number(input2) + Number(input1p.value);
¥

else if (operator =="—") {
input1p.value = Number(input2) - Number(input1p.value);
}

operator = "=";
}
</script>

</body>
</html>
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<IDOCTYPE html>
<html>
<head>
<meta charset="utf-8">
</head>
<body>
<input type=text id=input1><p>
<input type=button value="+" onclick=kigou("+")>
<input type=button value="—" onclick=kigou("—")>
<input type=button value="x" onclick=kigou("x")>
<input type=button value="+" onclick=kigou("+")>
<input type=button value="=" onclick=equal()>
<script>
varinputlp = document.getElementByld('input1’);
inputip.focus();
var operator;
var input;

function kigou(k) {
operator = k;
input2 = input1p.value;
inputip.value ="";
input1p.focus();

}

function equal() {
if (operator =="+") { input1p.value = Number(input2) + Number(input1p.value); }

else if (operator == "—") {input1p.value = Number(input2) - Number(input1p.value); }
else if (operator == "x") { input1p.value = Number(input2) * Number(input1p.value); }
else if (operator == "+") { inputip.value = Number(input2) / Number(input1p.value); }
operator = "=",
inputip.focus( );
}
</script> focus() . & RIIKEIZL T, ’
</body> FCIZAATER LT HED
</html>
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<IDOCTYPE html>
<html>

<head>

<meta charset="utf-8">

</head>

<body>
<input type=text id=input1 style="text-align:right"><p>
<input type=button value="=" onclick=equal()><p>
<input type=button value="1" onclick=kazu("1")>
<input type=button value="2" onclick=kazu("2")>
<input type=button value="3" onclick=kazu("3")>
<input type=button value="+" onclick=kigou("+")><br>
<input type=button value="4" onclick=kazu("4")>
<input type=button value="5" onclick=kazu("5")>
<input type=button value="6" onclick=kazu("6")>
<input type=button value="—" onclick=kigou("—")><br>
<input type=button value="7" onclick=kazu("7")>
<input type=button value="8" onclick=kazu("8")>
<input type=button value="9" onclick=kazu("9")>
<input type=button value="x" onclick=kigou("x")><br>

<input type=button value=" o " onclick=kazu("0")>
<input type=button value="+" onclick=kigou("<")><p>
<script>

varinputlp = document.getElementByld('input1’);
var operator;
var input;

function kazu(n) { \il

if (inputip.value == "0") inputip.value ="";

inputip.value = inputip.value + n; _
) B R | I
function kigou(k) { | il || 5 || 6 || — | &Y

operator = k; — X%

input2 = input1p.value; | 7 || 8 || 9 || X |< b‘é:i‘l,

input1p.value =""; '— INELY

| S 0 i N
function equal() {

if (operator =="+") { input1p.value = Number(input2) + Number(input1p.value); }

else if (operator == "—") {input1p.value = Number(input2) - Number(input1p.value); }
else if (operator == "x") { input1p.value = Number(input2) * Number(input1p.value); }
else if (operator == "+") { input1p.value = Number(input2) / Number(input1p.value); }
operator = "=",

X ETIE
Number
e

Number MZLNE, T4+ 1M
HEEIZH-oTLEVLET,
1+2 — 12)

</script> | Number(...) [&. XF 3%
</body> BFICEMLES

</html>
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<IDOCTYPE html|>
<html>
<head>
<meta charset="utf-8">
<style>
input { font-family: "MS P v%", sans-serif; font-weight:600; font-size:x-large; }
</style>
</head>
<body>
<input type=text id=input1 size=13 style="text-align:right"><p>
<input type=button value="CE" onclick=clr()>
<input type=button value="CA" onclick=clrAll()>
<input type=button value="=" onclick=equal()><p>
<input type=button value="1" onclick=kazu("1")>
<input type=button value="2" onclick=kazu("2")>
<input type=button value="3" onclick=kazu("3")>
<input type=button value="+" onclick=kigou("+")><p>
<input type=button value="4" onclick=kazu("4")>
<input type=button value="5" onclick=kazu("5")>
<input type=button value="6" onclick=kazu("6")>
<input type=button value="—" onclick=kigou("—")><p>
<input type=button value="7" onclick=kazu("7")>
<input type=button value="8" onclick=kazu("8")
<input type=button value="9" onclick=kazu("9")
<input type=button value="x" onclick=kigou("x")><p>
<tr><td><input type=button value=" 0 " onclick=kazu("0")>
<input type=button value="+" onclick=kigou("+")><p> <script>

varinputlp = document.getElementByld(‘input1');
171111
function clr() { input1p.value = ""; } |

var operator, input;
function clrAll() { CE | CA = / \

ll8|l >
lgll >

(
¢

input2 = input1p.value; yaN

input1p.value =""; - Jhe
| = Noe
function equal() {

input1p.value = ""; t/=
input2 =""; &
operator =""; 1 2 3 _|_ X/ +
_ MEILC
fun_cthn kazu(n) { s — . K&
if (input1p.value == "0") input1p.value = ""; 4 5 6 - 4\ /
input1p.value = inputip.value + n; /
} 1>
function kigou(k) { 2 l’_._
operator = k; 71/ 89 X A E

if (operator =="+") { input1p.value = Number(input2) + Number(input1p.value); }
else if (operator == "—") { input1p.value = Number(input2) - Number(input1p.value); }
else if (operator == "x") { input1p.value = Number(input2) * Number(input1p.value); }
else if (operator == "+") { input1p.value = Number(input2) / Number(input1p.value); }
operator = "=",
}
</script>
</body>

</html>
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<IDOCTYPE html>
<html>
<head>
<meta charset="utf-8">
<style>
input { font-family: "X/ )", sans-serif; font-weight:600; font-size:x-large; }
table { text-align: right }

</style>
</head> TR RANTAL
<body>

<table>
<tr><td><input type=text id=input1 size=13 readonly
style="text-align:right"></td></tr>

<tr><td><input type=button value="CE" onclick=clr()>

<input type=button value="CA" onclick=clrAll()>

<input type=button value="=" onclick=equal()></td></tr>
<tr><td><input type=button value="1" onclick=kazu("1")>

<input type=button value="2" onclick=kazu("2")>

<input type=button value="3" onclick=kazu("3")>

<input type=button value="+" onclick=kigou("+")></td></tr>
<tr><td><input type=button value="4" onclick=kazu("4")>

<input type=button value="5" onclick=kazu("5")>

<input type=button value="6" onclick=kazu("6")>

<input type=button value="—" onclick=kigou("—")></td></tr>
<tr><td><input type=button value="7" onclick=kazu("7")>

<input type=button value="8" onclick=kazu("8")>

<input type=button value="9" onclick=kazu("9")>

<input type=button value="x" onclick=kigou("x")></td></tr>

<tr><td><input type=button value=" O " onclick=kazu("0")>
<input type=button value=". " onclick=kazu(".")>
<input type=button value="+" onclick=kigou("+")></td></tr>
</table>

7777177777
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<script>
varinputip = document.getElementByld(‘input1’);
var operator;
var input;
var shousuu = 0;

function clr() {
input1p.value ="";
shousuu = 0;

}

function clrAll() {
input1p.value ="";
input2 = "";
operator ="";
shousuu = 0;

IN R 2D
ABRSNBD%E

r.01,1%70.011=%2% ’
Bt

function kazu(n) {
if (operator =="=")

operator ="",
input1p.value ="";

}
if (n==".){
if (shousuu == 1) return;
if (input1p.value =="") inputip.value ="0.";
else input1p.value = inputip.value + ".";
shousuu =1;
return;
}
if (input1p.value =="0") input1p.value = "";
input1p.value = inputip.value + n;

}

function kigou(k) {
operator = k;
input2 = input1p.value;
input1p.value ="";

}

function equal() {

else if (operator =="
else if (operator == "x") { input1p.value = Number(input2) * Number(inputip.value); }
else if (operator == "+") { input1p.value = Number(input2) / Number(input1p.value); }
operator ="=",

</script>
</body>
</html>

if (operator == "+") { input1p.value = Number(input2) + Number(input1p.value); }
—") {input1p.value = Number(input2) - Number(input1p.value); }

12
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<script>
var input1p = document.getElementByld('input1');
var operator;
var input;
var shousuu = 0;
var toBeErased = 0;

function clr() {
input1p.value =
shousuu = 0;

}

function clrAll() {
input1p. value =
input2 ="
operator =
shousuu = O

function kazu(n) {
if (toBeErased == 1) {
toBeErased = 0;
inputip.value =

}
if (n=="."){
if (shousuu == 1) return;
if (input1p.value =="") input1p.value ="0.";
else input1p.value = |nput1p value +
shousuu = 1;
return;

HEFHINEKELZS
= 0EBEEFEUHLT
Mo BEFER

if (input1p.value =="0") input1p.value =
input1p.value = inputip.value + n;

}

function kigou(k) {
if (operator !="") { equal(); }
operator = k;
input2 = input1p.value;
toBeErased = 1;

function equal() {
if (operator == "+") { input1p.value = Number(input2) + Number(input1p.value); }
else if (operator == "—") { input1p.value = Number(input2) - Number(input1p.value); }
else if (operator == "x") { input1p.value = Number(input2) * Number(input1p.value); }
else if (operator == "+") { input1p.value = Number(input2) / Number(input1p.value); }
operator ="";
toBeErased =1;

</script>
</body>
</html>
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<IDOCTYPE html>
<html>
<head><meta charset="utf-8">
<style type=text/css> input { font-size:150%; }</style>
</head><body>
<input type=text id=disp value=0 readonly style="text-align: right;"><p>
<input type=button onclick=num(1) value="1">
<input type=button onclick=num(0) value="0"><p>
<input type=button onclick=opr("+") value="+">
<input type=button onclick=opr("-") value="-
<input type=button onclick=opr("*") value="x">
<input type=button onclick=opr("/") value="+"><p>
<input type=button onclick=cal() value="=">
<input type=button onclick=clearE() value="CE">
<input type=button onclick=clearA() value="C"><p>
<script>
varmem =0, op="", clr=0;

var dispp = document.getElementByld("disp");

100

;4£:ﬁlﬁ*§T7D7’
function num(n

if (clr == { cIr = 0; dispp.value = 0; }
if (dispp.value == 0) { dispp.value =""; }

] =] 2]
K
[x]
[+]

dispp.value = ""+ dispp.value + n;
) CE||C
01 45 00 [Z7EB7ELVKDIC

function opr(o) {
if ((op !="") && (op !="=")) cal();
mem = dispp.value; clr = 1; op = 0;

function cal() { TEHEL TR ’
if (op =="=") { return; }

dispp.value = (eval("parselnt(mem,2)"
+op+"parselnt(dispp.value,2)")).toString(2);

Ew
o}

mem =0; op ="="; clr =1,

\§§§:ﬁ:%§ﬁ%€:ﬁﬁt

function clearE() { dispp.value = 0; } ML TEHE

function clearA() { mem = 0; op = ""; clearE(); }
</script>
</body>
</htmI>
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ZHEHE R (MR RGR)

ZEBDMBRROFENTEIEETT . MRUTOHLIBDANVCHENTEET . BT L TEET,
(ZERIUVNMRELHD )

<IDOCTYPE html|>
<html><head>
<meta charset="utf-8">
<style> input { font-size:150%; }</style>
</head><body>
<input type=text id=disp value=0 readonly style="text-align: right;"><p>
<input type=button onclick=num(1) value="1">
<input type=button onclick=num(0) value="0">
<input type=button onclick=pnt() value=".">
<input type=button onclick=cal() value="="><p>
<input type=button onclick=opr("+") value="+">
<input type=button onclick=opr("-") value="-">
<input type=button onclick=opr("*") value="x">
<input type=button onclick=opr("/") value="+"><p>
<input type=button onclick=clearE() value="CE">
<input type=button onclick=clearA() value="C"><p>

<script>
varmem =0,o0p =""clr=0, dpt = 0;
var dispp = document.getElementByld("disp"); 0.01

fun(i:fti(c:jr;)tpgt:()1{) ot /El\iﬂl,'f—:_l:il ARFIE ’ I| @ |:| E
grztzl_r l’= ) { cIr = 0; dispp.value = 0; } EBB
C

dispp.value ="" + dispp.value + ".";
b CE
function num(n) {

if (clr == 1) { clr = 0; dispp.value = 0; }

if ((dpt == 0) && (dispp.value == 0)) { dispp.value = ""; }

dispp.value = ""+ dispp.value + n;

function opr(o) {
if ((op !'="") && (op !="=")) cal();
mem = dispp.value; clr = 1; op = 0; dpt = 0;

}
function cal() {
if (op == "=") { return; }
dispp.value = (eval("parseBinary(mem,2)"
+op+"parseBinary(dispp.value,2)")).toString(2); — e | 2
}

function clearE() { dispp.value = 0; dpt = 0; }

function clearA() { mem =0; op =""; clearE(); }

ifunction parseBinary(s) { :
i varv=0,p=0,w=0.5; '
for (variins){ :

i (sll=""{p=1;)
else if (p == 0) {v=v*2 + Number(s[i]); } : =R
else {v=v+ Number(s[i])*w; w/=2;} |

} |
return v; i

</body>
</html>
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NAETE 2 (MR RGhiR)

AYERERICEETED. MERROFENTELIBEETT . MRUTDHAIRDANPEHELTEFTT,

<IDOCTYPE html|>
<html><head> EHH L) yk
<meta charset="utf-8">
<style> input { font-size:150%; }</style>
</head><body>
E B <input type=text size=3 value=2 onchange="radix=this.value;init()"><br>
<input type=text id=disp value=0 readonly style="text-align: right;"><p>
<input type=button onclick=pnt() value=".">
<input type=button onclick=cal() value="=">
<input type=button onclick=clearE() value="CE">
<input type=button onclick=clearA() value="C"><p>
<input type=button onclick=opr("+") value="+">
<input type=button onclick=opr("-") value="-">
<input type=button onclick=opr("*") value="x">
<input type=button onclick=opr("/") value="+"><p>
<div id=area><input type=button value="0" onclick=num(this.value)></div>
<script>
var radix = 2, mem, op, clr, dpt;
var dispp = document.getElementByld("disp");
var areap = document.getEIemenw/rroJ71-;‘9*/7&53175 ’
var nd = areap.children[0]:
function init() {
areap.innerHTML = ""; 0~E#-1 RavELTaE— ’
for (var i=0; i<radix; i++) {
var cln = nd.cloneNode(true); cin.value = i.toString(radix); J4 ST eIz AT ’
areap.appendChild(cin);
if (i % 4 == 3) areap.appendChild(document.createElement("br")); }

clearA();

} init(); n

function pnt() { 227:/16
if (dpt == 1) return; ‘ ff‘
dpt=1;

if (clr == 1) { clr = 0; dispp.value = 0; } DE

dispp.value = "" + dispp.value + "."; }

funicftiE)CTrr;u:m()n{) ({:Ir = 0; dispp.value = 0; } BE

if ((dpt == 0) && (dispp.value == 0)) { dispp.value = ""; }
dispp.value = "'+ dispp.value + n; } 0({1]12]3
function opr(o) { 4(5(6!7
if (op 1= ") && (op !="=")) cal();
mem = dispp.value; clr = 1; op = o; dpt = 0; } 8/9/a|b
function cal() { cldlels
if (op == "=") { return; }
dispp.value = (eval("parseNumber(mem,radix)"
+op+"parseNumber(dispp.value,radix)")).toString(radix);
mem =0; op="=";clr=1; dpt=0; }
function clearE() { dispp.value = 0; dpt = 0; }
function clearA() { mem =0; op =""; clr = 0; clearE(); }
function parseNumber(s) { 8 = # 1 ]
varv =0, p=0, w = 1/radix; Uﬁﬁﬁﬁi%ﬁﬂ’émnﬁﬁlﬁﬁk

for (variins)

if (slil==""){p=1;}
else if (p == 0) { v =v*radix + sToN (s[i]); }

else {v=v+sToN (s[i])*w; w /= radix; } lfaj~I% 10~ LHEIR
return v; }
function sToN(s) {

if (s.charCodeAt(0) >= "a".charCodeAt(0)) return s.charCodeAt(0) - "a".charCodeAt(0) + 10;
else return s.charCodeAt(0) - "0".charCodeAt(0); }
</script>
</body>
</htm|>




